Stainless Steel Pull

UHFS ssau= -
THH

E=N

A

4407419,

M L1
w L o RER,
o HHAMETIUE, AISMEMRESEMLRBIERK. R,
o [ @ ((UHFS-12] R4, REMML R, EREEME
o EM M E AR AR KRE (SUSXMT7 ), &
ERRZMHERRS (FERASI),
o HER. RELE O rotis
UHFS*1
*2
e N
BE SUS303
*1: [UHFS-12| RH##E.
*2: HSUS304.
B4 mm
Bs A L1 D H L Lf M w ﬁf;ﬂﬁ*] BE(g) giﬁ?}ﬂﬁ%
UHFS-8-55 8 55 12 40 67 9 M4 36 1000 58 M4 x 10
UHFS-8-64 8 64 12 40 76 9 M4 36 1000 61 M4 %10
UHFS-8-88 8 88 12 40 100 9 M4 36 1000 70 M4 x 10
UHFS-8-96 8 96 12 40 108 9 M4 36 1000 75 M4 x10
UHFS-8-100 | 8 100 12 40 112 9 M4 36 1000 75 M4 x 10
UHFS-10-88 10 88 15 47 103 13 M5 425 1000 113 M5x 12
UHFS-10-100 | 10 100 15 47 115 13 M5 425 1000 121 M5 x 12
UHFS-10-120 10 120 15 47 135 13 M5 425 1000 135 M5 x 12
UHFS-10-180 10 180 15 47 195 13 M5 425 1000 176 M5x 12
UHFS-10-200 10 200 15 47 215 13 M5 425 1000 189 M5x 12
UHFS-12-125 |12 125 - 60 137 12 M6 50 1000 220 M6 x 12
UHFS-12-160 12 160 - 60 172 12 M6 50 1000 251 M6x 12
UHFS-12-200 12 200 - 60 212 12 M6 50 1000 286 M6 x 12
UHFS-12-250 12 250 - 60 262 12 M6 50 1000 330 M6 x 12
*1: FANNBFERH.
o TSIETFE
UHFS-10-88
\
UHFS-10-88 -P
| Eﬁﬁﬁ%m

ji&=
ERBLHIHNRS (RS KN, HE-RESHREEM[-P),

T LRSS - TR = P / ECZIED = P.xxxx
A1 IR, B SBIT

N\ NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/



